Methods for Describing Data Continued

: Sorted EPA Mileage Ratings on 100 Cars '
e 300 | 33.9 | 352 | 36.1 | 36.7 | 37.0 | 374 | 38.0 | 39.0 | 40.2
) 1318 |33.9 {353 (362 | 367 | 37.0 | 37.4 | 381 | 39.0 | 403
3251340 [ 3551363 ) 3673703753821 393|405
327 1 342 | 356 | 363 | 36,8 | 37.1 /| 37.6 | 382 { 394 | 40.5
329 | 344 | 356 | 36.4 | 36.8 1 37.1 | 37.6 | 38.3 | 395 | 40.7
329 {345 (357 | 364 | 368 | 37.1 | 37.7 | 384 | 39.7 | 41.0
33.1 {348 | 358 | 36,5 | 369 | 37.2 | 37.7 | 38.5 { 39.8 | 41.0
33.2 1348 1 359 [ 365 | 369 | 37.2 | 37.8 | 38.,6 | 39.9 41.2
33.6 | 350 | 359 | 36.6 { 36.9 | 37.3 { 37.9 | 38.7 | 40.0 | 42.1
33.8 1351 (360366 |37.0| 373|379 | 38.8 | 40.1 | 449
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Descriptive Statistics

Varigble | N | Moan | Median | Sample | Minimum | Maximum | Range | Ol
- StDev :

MPG

25% of the MPG values are less than 3 50% of the MPG values are less than ;
75% of the MPG values are less than . ' '
About % of the MPG values are within one StDev of the mean.
o About % of the MPG values are within two StDevs of the mean.
. About ___ % of the MPG values are within three StDevs of the mean.




Summation Notation and Computation of Descriptive Statistics

I/3
Zi=1+2+3+...+n.

i=]

_ i |
We read “ Z X; 7 as “The sum of the measurements denoted by x; beginning with x; and ending with
i=l " :

xn.
n
sz =x;+x,tx3+...+x,
i=1 .
. i
| 2
Formula for a Sample Mean: ox = E;-?— _
' Z(xf ";)2
Formula for Sample Variance: = w____l___
_ —

Formula for Sample Standard Deviation: s = +/s%

Example of run times (in minutes) of 30 rats running through a maze:

1.97 536 970 606 193 7.60

174 402 171 563 202 206
377 "381 115 425 455 365

060 1.06 829 444 515 3.16

275 320 247 521 337 1.65

Descriptive Statistics
Variable N Mean “Median StDev
RUNTIME 30 3.744 3.510 2.198
| To be within 1 standard deviation of the mean, a
8 — run time must be in the interval ( D
7 % of the run times are in that interval.
B — _ ' o
o o5 To be within two standard deviations of the -
g ,_ ' . mean, run time must be in the interval
g, | A 3 ). % of the run times arc in
- . that interval. '
e | | [7]|  To be within three standard deviations of the
0 ; mean, run time must be in the interval =
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RUNTIME that interval.




